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Color Planning Problem 1:   
Plan and chart the 8 colors produced by a strict interpretation of this scheme: 

  Hue Scheme:  Complementary    
  Dominant Hue:  Red-Violet   Subordinate Hue(s):  _______?________ 

 Dominant Value:  4   Subordinate Value(s): 8 
 Dominant Chroma:  Middle Low  Subordinate Chroma(s):  High 
 Out-of-Scheme Accent(s):  none 

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 7:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 8:  Hue: ______  Val: _______ Chroma: ________ 
 

At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used? 

 

 

  
Color Planning Problem 2:   

Plan and chart the 6 colors produced by a strict interpretation of this scheme: 
  Hue Scheme:  Monochromatic    
  Dominant Hue:  Blue Green   Subordinate Hue(s):  _______?________ 

 Dominant Value:  3   Subordinate Value(s): 1, 7 
 Dominant Chroma: Low   Subordinate Chroma(s):  Middle High 
 Out-of-Scheme Accent(s):  none 

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
 

At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used? 
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Color Planning Problem 3:   

Plan and chart the 9 colors produced by a strict interpretation of this scheme: 
  Hue Scheme:  Monochromatic    
  Dominant Hue:  Red-Orange   Subordinate Hue(s):  _______?________ 

 Dominant Value: 4   Subordinate Value(s): 2, 8 
 Dominant Chroma: Middle   Subordinate Chroma(s):  Middle High, Low 
 Out-of-Scheme Accent(s):  none 
 

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 7:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 8:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 9:  Hue: ______  Val: _______ Chroma: ________ 
 

At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used? 

 

  Color Planning Problem 4:   
Plan and chart the 9 colors produced by a strict interpretation of this scheme:   

  Hue Scheme:  Monochromatic (with neutral) Out-of-Scheme Accent(s):  none   
  Dominant Hue:  Yellow-Orange Subordinate Hue(s):  _______?________ 

 Dominant Value:  3   Subordinate Value(s): 1, 7 
 Dominant Chroma: Low   Subordinate Chroma(s):  Middle High, Neutral 
Specify each color in this scheme’s palette.  

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 7:  Hue: ______  Val: _______ Chroma: ________ 
Color 8:  Hue: ______  Val: _______ Chroma: ________ 
Color 9:  Hue: ______  Val: _______ Chroma: ________ 
 

At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used?  
 
 
Several of these colors are effectively repeats of the same color.  
Which are repeats? 
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Color Planning Problem 5:   
Plan and chart the 12 colors produced by a strict interpretation of this scheme:   

  Hue Scheme:  Split Complement    
  Dominant Hue:  Yellow-Orange  Subordinate Hue(s):  RRV, BBG 

 Dominant Value:  7   Subordinate Value(s): 4 
 Dominant Chroma: Middle   Subordinate Chroma(s): High 
 Out-of-Scheme Accent(s):  none 

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
Color 7:  Hue: ______  Val: _______ Chroma: ________ 
Color 8:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 9:  Hue: ______  Val: _______ Chroma: ________ 
Color 10:  Hue: ______  Val: ______ Chroma: ________ 
Color 11:  Hue: ______  Val: ______ Chroma: ________ 
Color 12:  Hue: ______  Val: ______ Chroma: ________ 
 
At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used? 

 

Color Planning Problem 6:   
Plan and chart the 12 colors produced by a strict interpretation of this scheme:   

  Hue Scheme:  Split Complement    
  Dominant Hue:  Red-Violet   Subordinate Hue(s):  GYG, GBG 

 Dominant Value:  4   Subordinate Value(s): 7 
 Dominant Chroma: Middle   Subordinate Chroma(s): Low 
Out-of-Scheme Accent(s):  none 

 

 
Color 1:  Hue: ______  Val: _______ Chroma: ________ 
Color 2:  Hue: ______  Val: _______ Chroma: ________ 
Color 3:  Hue: ______  Val: _______ Chroma: ________ 
Color 4:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 5:  Hue: ______  Val: _______ Chroma: ________ 
Color 6:  Hue: ______  Val: _______ Chroma: ________ 
Color 7:  Hue: ______  Val: _______ Chroma: ________ 
Color 8:  Hue: ______  Val: _______ Chroma: ________ 
 
Color 9:  Hue: ______  Val: _______ Chroma: ________ 
Color 10:  Hue: ______  Val: ______ Chroma: ________ 
Color 11:  Hue: ______  Val: ______ Chroma: ________ 
Color 12:  Hue: ______  Val: ______ Chroma: ________ 
 
At least one of these colors is impractical or impossible.  
Which one(s)?  And why can it/they not be used? 

 


